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Mr. Schlansky Algebra 11

Exponential Equations Multiple Choice

1. Which is the solution to: 2(3)* +1=117?

1 log5 3 log3
4log3 4log5
2) 4log5 4) 4log3
log3 log5

2. Which is the solution to: 256+ 4(2)** =2700 ?

1 In4 3) In611
6In2 6In2
2) 61n423 4) 61n 2444
In4 In4

3. Which is the solution to: 1—2(5)** =—5?

1 In6 3) 2In4
21n3 In3
2) 2In5 4) In3
Inl 2In5

4. Which is the solution to: 5(3)** =30 ?

| log 6 3) 2log6
3log2 log3
log 6 4) 2log3
2log3 log6
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5. The solution to the equation 5¢**

=71is
1) 7 3)) -3
—2+]11[§] 5
2) (In7 ; 4)  —i+In(2)
0t |-

6. What is the solution of 2(3***} = 562

1) x=log,(28)-4 3) x=logi25)-4

2) x=-1 4) _ logh)
- log(f)

7. The solution to the equation 6[2“4 J = 3fiis

1) -1 3) In(3)-4
2) In36_, 4 né _,
iz Inz

8. Which expression is not a solution to the equation 2* = ~/107?

D élugglﬂ 3) log, 10
2) lag,~f10 4) logyy4
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